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UPS charges $7 for the first pound, and $0.20 for each additional pound. FedEx charges $5 for the first
pound and $0.30 for each additional pound. How many pounds, p, will it take for UPS and FedEx to cost

the same?
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Lenny makes $55,000 and is getting annual raises of $2,500. Karl makes $62000, with annual raises of
$2,000. How many years, y, will it take for Lenny and Karl to make the same salary?
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Gordon is fixing up his home and must spend less than $3,600 to hire carpenters and
painters, Carpenters charge $56 per hour and painters charge $35 per hour.

Select the Inequality In standard form that describes this situation. Use the given numbers
and the following varlables.

x = the number of hours of carpentry

y = the number of hours of painting

35x + 56y < 3,600

56 +x + 35 + y < 3,600

35+ x + 56+ y < 3,600
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